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*Mini clock setting, Reset Position, Hide Mini clock, Mini clock exit’
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Mini clock setting(R)
Reset position(P)

Hide mini clock(H)
Mini clock exit(X)

Mini clock setting: fidandilzifiadfuuasgunudnmazuasuring

Reset position: fidaniiazaeAifidelinasuninfonunaan

Hide mini clock: dadantiagvinnsdauientuuiiai

Mini clock exit: datdaniiazvinaistlafoatuuriai

X yinsasmsivindimaduunudsannidan 'Hide mini clock' Myuarsainaasaananfitinasagfisiundinagluwau
Tlsunsu adnanvisUuaidan *Show mini clock’

| Show mini clock [
Hide mini clock(H)
Reset position(P)

Mini clock setting(R)
Mini clock exit(X)
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Mini clock setting

Iidn choice

i) Skin #1 _
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i) Skin #3
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() Claasic type

ﬁiew options

[¥] Show always
[] Auto-aunch on login
[ Display 24 hours
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IE}_—l Add world time
MewYork{GMT-05:00) Daylight Savings

#You can check the changed details by pressing the ' Apply * button
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Default Settings oK Cancel
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Skn choxe Skin choe

N Skn #1
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Chasc type (hasc type

Sin chowce Sk choice

Skn #1 Skin #1
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Chasc type ® (hasc type
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